

Each problem is worth 5 points.  Show all of your work on each problem.  Make your solutions neat and readable.

1. What is the closed form of the following summation?
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2. Prove using  induction that the following conjecture is true. 
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3. Write a recursive function that will reverse the pointers of a singly-linked list while traversing the list only once.  Initially, each node points to its logical successor, after calling the reverse function each node points to its logical predecessor. 

Assume the following definitions and declarations have been made:


struct node {



int data;



struct node *next;


}

mylist = (struct node *) malloc(sizeof (struct node)); 

//mylist points to the head of the list to be reversed

The initial call is:  mylist = reverse(mylist).
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